LP880 / LPS88OBL Metric Flange/Cage Nuts

NN AR
P60490

=

M5 x 0.8
Hex Nut with 19mm Free Spinning Washer
10mm Across the Flats Hex

AT
P69906

A

M6 x1.0
Hex Nut with 16mm Free Spinning Washer M8 x 1.25
10mm Across the Flats Hex Hex Nut with 24mm Free Spinning Washer

P57197 P57192 P37485

D A

e == 20O

8mm M10x 1.5
Metric Cage Nut Hex Nut with 24mm Free Spinning Washer

6mm
Metric Cage Nut

TR YOO
P51825

RO
P57189M01

TR AN
P57200

DA

8mm
Metric Cage Nut

10mm
Metric Cage Nut

6mm
Metric Cage Nut

TR AR
P57195
A

. NOTE: Bottom of backplate represents front of LP drawer.
1 2 / A1 2BL |PHOTOS ACTUAL SlZEl Serviced onIy by e I-AWSON © 2010 Lawson Products, Inc. Printed in USA (6/11)




